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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution

pm4aX (ppb)

corr_usl b

400 —

300 —

200
100
-100

o
[}
e

S
P

=}
¥

¥ o o o < v o o
S5 -~ & I 3
g 3 5 3 § 32
S =] ) H S S
o o @ <« o 4 -
HoooH S N n
g 3 « 8 g .
g > &
g8 © 3 © —
=] o -
¢ s ]
> & 3 € -1
@ Tt 2 B 8 © —
s o 8 §© £ 8 g £
g =z E : 3 s & 3 E
= »® S5 06 % o = 0 1
1 -
—_— 1 —
TR TR TN W [N TN WO TN SO N TN TR SO T MY Lo
o) o 1) o
34 « —
[ ®
@
— L g
R m .
- e
o™ A
D 4 |
(e} ®
- <t °
< © °
i ®
2 0
| °
@
Py
Y @
© ®
< .
~ ®
L
=<3 .
»
Py
@
Py
L
P
@
Py
@
Py
@
&
Py
@
Py
@
L
Py
@
—e—
Py
@
Py
@
Py
@
Py
L
—_—
Py
&
Py
&
P
@
Py
@
Py
A
Py
@
Py
@
Py
@
L —— L ———
Py
@
-9 —
@
Py
(NN __7+++444|fT+++H:+++++++++1____________mH
o o




RMS (ppm)

16

14

12

10

corr_usl_bpm4aX RMS (ppm)

LLL Ll 11d1l || LI LI LI Ll 111
S B G e G S g 5 e b b g G v T 7 8 g S0 g g g S g s 58 0.4



1D pull distribution

+0.05978

0.007556

Mean

+0.04227

0.4185

Std Dev

Underflow

Overflow

0.8657 /2

X2 / ndf

2543 +4.72

Constant

0.03248 + 0.05912

Mean

0.4039 + 0.0485

Sigma

TN Y

N
N

o
N

©
-

12

o [ee] © < N
—

0

8.583 /48 hH

X2 / ndf

15.99 + 58.23

pO

pm4aY (ppb)

corr_usl b

1000

0'18LY




RMS (ppm)

30

25

20

15

10

corr_usl_bpm4aY RMS (ppm)

I T Y Y A
R e g S S g 8 e b b g S G v 7 7 8 1 g S g g S g s 58 0.4

sFTT



w0 © ) ) w0 © @ ©
= 3 3 o N 3
S 8 £y 3 <
a o i ® o + i
~ H ~ + a8 n
3 8 4 @ @
S 5] @ o B
s 5 g -
S -
z - 3
3 m m k<] m o —
clsg & 8 § ¥ ¢z 5 ¢
o s B 5 S %« 8 2 & M
E=
=1 —
o -
2 -~ _ —
= -
o
o
- 4
P AN T T N TN SN TN AN TN TR T N WO NI B B R
< N o © < N o
- — -
I —
—@—
0 00 ]
4 —_———————
M—O{J —_——
— —
O ™M |.|.
——]
%+_ -
23 —_——
o —_————
o0] —
« —_—
—
—_——
“— ——
© ——
< ———
~ ——
%2 e
)X L
Q —_—
[oX
o — e
N—" —
e — ——
i ——
m —lo———
o —_——
o) [ P —
I_ —_—
[2) —_———
S ———
r_ ——i
—
o —_——
(&) —————
— ————
—_——
———
———
—
— e —
—t
——
———
—_—
—_—
_____________._l_-_ﬂuvﬂ_“l.x____
o o o o (=} o o
o o o o o o
o o o o o o
o o © < « Y




RMS (ppm)

corr_usl_bpm1X RMS (ppm)

290

280

270

260

250

240

230

220

210

I T Y Y A
R e g S S g 8 e b b g S G v 7 7 8 1 g S g g S g s 58 0.4

S TT



1D pull distribution

0.001501 + 0.05668

Mean

+0.04008

0.3968

Std Dev

Underflow

Overflow

0.6764 /2

X2 / ndf

23.04 £4.41

Constant

-0.0309 + 0.0667

Mean

0.4494 + 0.0601

Sigma

...I...I...IJ|I|.qu.|...|...

2

2

7.714 148 H

07

X2 / ndf

45

+ 34

-14.

0

p

pm1Y (ppb)

corr_usl b




RMS (ppm)

25

20

15

10

corr_usl_bpm1Y RMS (ppm)

LL® 1L 111110111111yl || LI LI LI Ll 111
R S 5 G S B S g 5 5 5 S G 5 I S SR 8 S s s 9 0.4



3 8 ° ° e B 2 &
g 2 g © B &
S =3 2 H =4 oS
S < g 8 5 @ ]
) 0 ] 0 @ N
g § ° =
(=} T -
> m 3 € -1
c 3 S 2 bl g - © —]
c|§ = £ ¢ - & § 5 m
(e} = 2] S ¢} =< o = » -1
= .
=}
o)
= . _
— T -
2 —— —
© . -
m
o u
(@) .
i .
il BN B AT B | il I | Lo by v by v by
o © © < o~ o © © < o~ [S)
N — - - i -
[ —]
o O H
N
/9 1
o 7]
_M_+_ ]
— N T
e —
~ —
<t —
— —
© —
c —
~ —
N =] ]
—~|>X _
Qo
Q. —
o —
N—r
X _
© -
—
Q. ]
o —
| ———— —
[7)) — e ————————  —
> H—— —
_ — e . _
— L ——— S —
o
— —
o
1 -
— -
__________._|

o o o
o o o
o o o
(3] N —

2000

3000



RMS (ppm)

corr_usl_bpm16X RMS (ppm)

110

100

90

80

70

60

50

I T Y Y A
R e g S S g 8 e b b g S G v 7 7 8 1 g S g g S g s 58 0.4

ST T



0.005591+ 0.1348
Std Dev  0.9436 + 0.09532

Mean
Underflow

(=] ©o ~ N~ o
~ s} n ]
sy o © @
© = = e}
S H < °©
0 ~ + +

N o
s 3 3
s 3 o
o o

T

I

S 5 g

T c ] c g

o ~ c ©

> ™ o () 2

o < () = n

|

1D pull distribution

0III|III

31.93

X2 7 ndf 43.63748 |
0 ~30.03 +

p

pm16Y (ppb)

corr_usl b

___._ITII_OT..I.ll_.I___ __________

800 —
600 —

o

400
200
-200




RMS (ppm)

28

26

24

22

20

18

16

14

afF

corr_usl_bpm16Y RMS (ppm)

LI 111l
B S 0.4



1D pull distribution

—0.01851+0.1321

Mean

0.9247 +0.0934

Std Dev

Underflow

Overflow

3.745/6

1072 +2.11
0.08833 + 0.14603
0.9094 +0.1262

X2 / ndf
Constant
Mean
Sigma

\

0III|III|

41.91/48 R
-312.7

X2 / ndf

161.7

+

pO

pm12X (ppb)

corr_usl b

i
|

1000
200
300




RMS (ppm)

105

100

95

90

85

80

75

70

65

corr_usl_bpm12X RMS (ppm)

~HT

z

T Y Y A || LI LI LI Ll 111
g B o B g G R 0§ G b o S G 7 5 G e g g b G R g e S S 0 87904



~ k< o o (3] < o o
o ~ = ) @ ©
e} =] <5 ~ @ <
2 3 3 & S
<1 S B H 2 +
S S < @ S
+ + < + S
o @ 9 re) 0
~ = - 3 =]
) 2 2
g g g
g © s
o
> m 3 €
@ = 2 k=1 8 ©
H o 5} = 2 % H g
c 3 - 2 2 N 5 3 =)
o = 7] =] o < [} = n
=
>
e}
= I
+= [
2] R
© :
— L
>
o
(@)
-
PN I T T | M| L | L L
© < N o [oe]
— - — —
I
o M
< ©
~m
R
_/.+_
— ™~
(o2}
N
i
Y—
©
c
~
NP =}
—~[>X< Q]
o)
Q.
(=B
~
N
—
Q.
b_
)]
5
a
=
o
o
— e
—_—
_____________ _______l_.
o o o o o o o o o
o o (=} o o o (=} (=
s 8 3 % K § § 9




RMS (ppm)

32

30

28

26

24

22

20

18

16

14

aHT

corr_usl_bpm12Y RMS (ppm)

LI 111l
B S 0.4
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1D pull distribution
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1D pull distribution
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1D pull distribution
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